P () | A SIS 3 1 5% 3 20, 100
-1 A0.5%
217nf

P (R | EE T RALREI T T2 0 5 1
-2 & 44

15, 40019
A 0.6 %
485 i

FE )
-3

FE ARSI 1 7 9

*2

6, 50011
A 0.8 %
184nf

gy FHB
o
P~
R TN A R z
7 ZART B
A TR LT L &
ES)
O
»5
B — 2t =2
5
WFERNERE 120m KIROFFHE T HFFEOE 180m
R ) | SEETTAEZET R L 0 5 5% 3 9, 55019 S (W) | SRR B AR AT 3 5 % 5,000/ R ) | SER TR AL 3 4 3,720
-4 A10%| [-5 A 1.8%| |-6 2% A1.8%
172nt 2050t 691t
HE
AR
= %
s —_ %
2
FREE{ER
Az 230m RBgphtlis 170m ML 160m
P () | EETA AT R 4 1 3 45 12,300/ | [ A (B | FAHAAET RGeS BT 70 33 12, 600 SR | SEETAE AN ER T RAL 4 8 8 5 7, 6801
-7 6 A31%| |-8 6 A31 % [-9 & A29%
89t 185nf 2190t
5 RS A F
D 2R i
EEHE
W RS 180m EJEA A5 80m RABREE 120m
S (W) | ST ESERT N R RSl R 10 16, 100/ () | ST ESEITRA TR 1 1 2% 5,020/ S () | SR RTIR RT 7 7 0 % 38, 500
- 10 7 2% 24+ 0.0 %| |- 11 15 0.0 %| |5-1 A1.0%
1650t 372nt PR H RS 1360t

A afsE 70m

i

R

[ e
It
S

dn

Frd it

T 450m

TR

170m

/

ik |

FEIEE AT




SEF R | EETAEART RT3 020
5-2 1
F R~ RS

[RR=% -

=1

B

TEE
WHRETS  190m

16, 40011
A 30 %
167nf

SEF (R | SEE T EERN NS T E i3 7 3 24, 100/
5-3 & A0.4%
106nd

53
i 1l

PUEROE g,

OSFEA

500m

==y

=
#
N =
E2)
#0
$E MREEALNR
iT

oS ERFOER




